PRECISION TOOL HOLDERS SYSTEM

HSK-T#H 55 5 )] B
CNC TOOL SYSTEMS




O BN

4& N\ Beyond the mechanical

SE 4K REFERENCE DETAILS

b4

1 4
;fﬁ h10 | 92 [ 1is0 |1t | 95 | max. | 98 | max. N Min. o +£0.1|+0.04 b4
HSKT32 | 32 [24.007| 17 [205( 19 | 31 |4 | 42 | 16 [32| 23 | 20 | 16 | 7.05 | 6.932 | *%03
HSKT40 | 40 [30.007| 21 [255(23 | 390 (4| 5 | 20 | 4 | 23 | 20 | 16 |8.05 | 7.032 | *%03
HSKT50 | 50 [38.009| 26 | 32 (29| 49 (7 | 68 | 25 | 5 | 30 | 26 | 18 |10.54|10.425 093
HSKT63 | 63 [48.010( 34 | 40 |37 | 62 | 7 | 84 | 32 |63| 30 | 26 | 18 |12.54|12.25 00
HSKT80 | 80 [60.012( 42 | 50 (46| 79 (7 |102| 40 | 8 | 30 | 26 | 18 |16.04| 15.93 |03
HSK-T100 | 100 |75.013 53 | 63 |58 | 99 | 7 | 12 | 50 | 10| 34 | 26 | 20 [20.02] 19.01 |*00%

e

*:

OSEFENEE :<AT3

OHRE[E :>HRC56°

OBWRE >0.8mm

OEEE :<0.8pum

ORERERE :Ra<0.25um

OTIHETULITEENFE G6.3, AISIMEEREBIITFE G2.5
O7s (#4155 :DIN 1SO 12164-3:20008

Features:

© Taper tolerance <AT3.
© Hardness>HRC56°

© Carbon depth>0.8mm.
© Roundness < 0.8um.

© Surface roughness: Ra<0.25um.

© The shank has pre-balance at G6.3,and can provide
precision balance at G2.5, made by request.

© Shank body standard:DIN ISO 12164-3:20008




b frie
S eI EXL
HSK-T-SBK SMEEHE S TIEE HSK-T-SBK OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

HSK. NO
T
N
. R I _
| ! ' N N
: @@ P
L1
L
/N Note

* IEEERLE ATC BB AR T
Please take care to prevent interference within the RREAAEA

ATC cantilever and the machine. No restriction on left or right hand direction

# & Model 1RER L |L1|{L2|L3|L4| D |D1|[{H1| H2 |H3| B G %GE;
HSK-T50-SBK20*20R-95 HSK-T50 |120( 95 | 26 | 31 | 60 | 50 | 48 | 32 |37.75| 51 | 20 | M10*1.5P 2
HSK-T63-SBK20*20R-110 HSK-T63 (142(110( 26 | 36 | 60 | 63 | 61 | 32 |37.75| 51 | 20 | M10*1.5P | 2.5

‘ HSK-T63-SBK25*25R-110 HSK-T63 |142|110| 26 | 36 |67.5| 63 | 61 | 32 |37.75| 51 | 25 | M12*1.75P | 2.8
HSK-T63-SBK1" *-1" R-110 HSK-T63 (142|110 26 | 36 (67.5| 63 | 61 | 32 |37.75| 51 | 1" | M12*1.75P | 2.8
HSK-T100-SBK25*25R-120 HSK-T100 (170|120 29 | 35 (110(100| 98 | 32 |37.75| 51 | 25 | M12*1.75P | 6.5
HSK-T100-SBK1" *1" R-120 HSK-T100 (170|120 29 | 35 {110(100| 98 | 32 |37.75| 51 | 1" | M12*1.75P | 6.5




O 2N

4& N\ Beyond the mechanical

H -SBN MRESE S TIEE HSK-T-SBN OUTSIDE DIAMETER TURNING AND MILLING TOOL HOLDER

o
b =
AI%‘ Note
* IEERRLE ATC BERINMAN TS
Pleaseta'kecareto preventir)terferencewithinthe KEXRTEEET (R)
ATC cantilever and the machine. This diagram shows a right hand turning tool (R) ’
=B
Fuig 1ER L |LO[ L1 |L2| L3 | L4 (L5|L6( L7 | D (D1{D2| Bl [B2| B3 [H1|H2 G =

KGS
HSK-T50-SBN20*20R-110 | HSK-T50 | 135 |31| 11026 | 72.8 |52.8| * |60| 83.1| 50 |48( * | 20 (25|43.5|35(35| M10*1.5P | 2.4

HSK-T50-SBN20*20L-110 | HSK-T50 | 135 (31|110|26| 72.8 (52.8| * (60| 83.1| 50 (48| * | 20 |25|43.5(35|35| M10*1.5P | 2.4
HSK-T63-SBN20*20R-110 | HSK-T63 | 142 |32|110(26 | 72.8 |52.8| * |60(83.1| 63 |61| * | 20 |32(43.5|35|35( M10*1.5P | 2.9
HSK-T63-SBN20*20L-110 | HSK-T63 | 142 (32|110|26| 72.8 (52.8| * [60|83.1| 63 (61| * | 20 |32|43.5(35|35| M10*1.5P | 2.9
HSK-T63-SBN25*25R-110 | HSK-T63 | 142 |32|110( 26 | 70.8 |45.8(40|70(85.2 | 63 |61|90| 25 |32 53 |39|39( M12*1.75P | 3.2
HSK-T63-SBN25*25L-110 | HSK-T63 | 142 (32|110|26 | 70.8 (45.8|40(70|85.2| 63 (61(90| 25 |32| 53 [39|39| M12*1.75P | 3.2
HSK-T63-SBN1" *-1" R-110 | HSK-T63 | 142 |32(110| 26| 70.8 |45.8|40|70| 85.2 | 63 |61|90| 1" (32| 53 [39(39( M12*1.75P | 3.2
HSK-T63-SBN1" *-1" L-110 | HSK-T63 | 142 (32|110|26 | 70.8 |45.8(40|70(85.2 | 63 |61|90| 1" |32| 53 |39|39| M12*1.75P | 3.2
HSK-T100-SBN25*25R-135 |HSK-T100( 185 (35]135|29 | 88.5 |63.5( * |70]102.9( 100 [98| * | 25 32| 59 |43|43| M12*1.75P | 6.4
HSK-T100-SBN25*25L-135 |HSK-T100| 185 |35|135(29 | 88.5 |63.5| * |70|102.9 100 |98 * | 25 (32| 59 |43 (43| M12*1.75P | 6.4
HSK-T100-SBN1" *-1" R-135 [HSK-T100| 185 |35(135|29 | 88.5 (63.5| * (70(102.9| 100 (98| * | 1" |32| 59 (43|43| M12*1.75P | 6.4
HSK-T100-SBN1" *-1" L-135 |HSK-T100| 185 (35|135|29 | 88.5 [63.5( * {70{102.9| 100 (98| * | 1" |32 59 (43|43| M12*1.75P | 6.4
HSK-T100-SBN32*32R-140 |HSK-T100( 190 (35/140|29( 89 | 59 | * |85/109.9| 100 (98| * | 32 |37(68.5(48|43 M14*2.0P | 7.2
HSK-T100-SBN32*32L-140 |HSK-T100| 190 |35/140(29| 89 | 59 | * |85/109.9( 100 |98 * | 32 [37|68.5|48 (43| M14*2.0P | 7.2




$ebr 2o
SIETIA RS
HSK-T-SBH M2 E St E & TIEE HSK-T-SBH OUTSIDE DIANETER TURNING AND MILLING TOOL HOLDER

L3

|
. |
H |
. |
: h
v, !
(Aetazzz= ’
HSK. NO ‘Z"’\”(’f/:'""
TEETID)
PP
/I” ’ 1 1
s ' '
h
I e VA R
&; : :
‘\l\l \\\ 1 '
CURRNY i 1
MR 1 1
AR '
oL D).
| oA )
AN
i PN
i KN :
BN
N
L1
L
/N Note

* EERMLE ATC BB MR TS
Please take care to prevent interference within the
ATC cantilever and the machine.

RRELGTRE

No restriction on left or right hand direction

L 1ER L (LO| L1 (L2 L3 [ D (D1|B1|B2| B3 |H1l| H2 G %Gig
HSK-T50-SBH20*20R-90 HSK-T50 [115]|40| 90 |26 | 70 |50 |48 |20 | 25 (43.5(27.5| * | M10*1.5P | 1.8
HSK-T50-SBH20*20R-120 HSK-T50 | 145|70| 120 | 26 | 100 | 50 | 48 | 20 | 25 (43.5|27.5| * | M10*1.5P | 2.3
HSK-T63-SBH20*20R-90 HSK-T63 (122 40| 90 |26| 70 |63 |61|20(32(4.35/ 30 | * | M10*1.5P | 2.5
HSK-T63-SBH25*25R-90 HSK-T63 (122 40| 90 |26 | 65 |63 |61|25|32| 53 |40.5|29.5 |M12*1.75P| 3.1
HSK-T63-SBH1" *-1" R-90 HSK-T63 (122 40| 90 |26| 65 |63 |61 |1" |32 53 |40.5|29.5 |M12*1.75P| 3.1
HSK-T63-SBH25*25R-120 HSK-T63 [ 152 |70| 120 |26 | 95 |63 |61 |25 32| 53 |40.5| 29.5 |M12*1.75P| 3.7
HSK-T63-SBH1" *-1" R-120 HSK-T63 [152|70| 120 |26 | 95 |63 |61 |1" |32 53 (40.5|29.5 |M12*1.75P| 3.7
HSK-T100-SBH25*25R-105 HSK-T100|155|35| 105 (29 | 80 (100(98 (25|32| 59 | 48 | 37 [M12*1.75P| 6.1

HSK-T100-SBH1" *-1" R-105 HSK-T100( 155 (35| 105 |29 | 80 |100{98 (1" 32| 59 | 48 | 37 |M12*1.75P( 6.1
HSK-T100-SBH25*25R-150 HSK-T100|200 | 35| 150 29 | 125 (100{98 (25|32 | 59 | 48 | 37 [M12*1.75P| 8.9
HSK-T100-SBH32*32R-105 HSK-T100 | 155 35| 105 |29 | 75 |100| 98 | 32 | 40 (68.5| 57 | 43 | M14*2.0P | 7.4




O 2N

4& N\ Beyond the mechanical

HSK-T-SBV MR EHE & TIEE HSK-T-SBV OUTSIDE DIAVETER TURNING AND MILLING TOOL HOLDER

A;_:E%f Note
* IETERGLE ATC BB RAMARTH
Please take care to prevent interference within the TERT-AEFET] (R)
ATC cantilever and the machine. This diagram shows a right hand turning tool (R)

g wEp L |LO| L1 |L2(L3| L4 | D (D1|B1|B2( B3 [H1|H2[H3 G i&? ’
HSK-T50-SBV20*20R-95 HSK-T50 |120{31| 95 |26 (15| 60 |50|48|20|25(43.5(25|25| 5 | M10*1.5P 2
HSK-T50-SBV20*20L-95 HSK-T50 |120(31| 95 |26 (15| 60 |50 |48|20(25(43.5|25|25| 5 | M10*1.5P 2
HSK-T63-SBV20*20R-95 HSK-T63 |127|32| 95 (26 (15| 60 |63 61|20 (32(43.5|33|32(13| M10*1.5P | 2.7
HSK-T63-SBV20*20L-95 HSK-T63 |127|32| 95 |26 (15| 60 |63(61]|20(32(43.5|33|32|13( M10*1.5P | 2.7

HSK-T63-SBV25*25R-105 HSK-T63 |137|32( 105 | 26 |[20| 70 (63 (6125 (32| 45 |30|30| 5 [ M12*1.75P| 2.9
HSK-T63-SBV25*25L-105 HSK-T63 |137|32| 105 | 26 (20| 70 |63 (61|25 (32| 45 |30(30| 5 [M12*1.75P| 2.9
HSK-T63-SBV1" *-1" R-105 HSK-T63 |137|32( 105 | 26 20| 70 (63 (6125 (32| 45 |30|30| 5 [ M12*1.75P| 2.9
HSK-T63-SBV1" *-1" L-105 HSK-T63 |137|32| 105 | 26 (20| 70 |63 (61|25 (32| 45 |30(30| 5 [M12*1.75P| 2.9
HSK-T100-SBV25*25R-150 HSK-T100 (200(35| 150 | 29 (20 110 |100|98|25 |37 59 |48|43|23| M12*1.75P | 8.5
HSK-T100-SBV25*25L-150 HSK-T100 (200|35| 150 | 29 |20| 110 |100(98| 25 |37| 59 |48|43(23| M12*1.75P| 8.5
HSK-T100-SBV1" *-1" R-150 [HSK-T100|200|35| 150 (29 (20| 110 (100|98|1" |37 59 |48|43|23| M12*1.75P | 8.5
HSK-T100-SBV1" *-1" L-150 |HSK-T100 (200|35| 150 | 29 |20| 110 |100{98|1" |37| 59 (48(43(23|M12*1.75P| 8.5
HSK-T100-SBV32*32R-150 HSK-T100 (200(35| 150 | 29 (20( 110 |100|98| 32 |40|68.5|45(43|15| M14*2.0P
HSK-T100-SBV32*32L-150 HSK-T100 (200(35| 150 | 29 (20| 110 |100|98| 32 |40|68.5|45|43|15| M14*2.0P 9




$ebr 2o
SIETIA RS
HSK-T-SBT $MEEEE & TIE HSK-T-SBT OUTSIDE DIANETER TURNING AND MILLING TOOL HOLDER

INFEE Note

* IEEERLE ATC BB RIMAN TS
Please take care to prevent interference withinthe | KE|RRAFZET] (R)
ATC cantilever and the machine. This diagram shows a right hand turning tool (R)

b BB L [LOf L1 (L2|L3| L4 (D |D1{D2|B1(H1|H2 |H3 G %Ggg
HSK-T50-SBT20*20R-95 HSK-T50 | 120 |31 95 |26| * | 60 | 50 |48 * |20|35(43.5(15| M10*1.5P | 2.3
HSK-T50-SBT20*20L-95 HSK-T50 | 120 |31| 95 (26| * [ 60 | 50 (48| * (20|35 (43.5/15| M10*1.5P | 2.3
HSK-T63-SBT20*20R-95 HSK-T63 | 127 |32 95 (26| * [ 60 | 63 (61| * 20|35 (43.5/15| M10*1.5P | 2.6
HSK-T63-SBT20*20L-95 HSK-T63 | 127 |32 95 (26| * [ 60 | 63 (61| * [20(35(43.5/15| M10*1.5P | 2.6

HSK-T63-SBT25*25R-115 HSK-T63 | 147 |32| 115 |26(40| 70 | 63 |61|90|25|43| 53 |18 | M12*1.75P | 4.4

HSK-T63-SBT25*25L-115 HSK-T63 | 147 |32| 115 (26]/40( 70 | 63 (61|90 (25(43| 53 |18 | M12*1.75P | 4.4

HSK-T63-SBT1" *-1" R-115 HSK-T63 | 147 |32 115 (26/40( 70 | 63 (61|90 (25(43( 53 | 18 | M12*1.75P | 4.4

HSK-T63-SBT1" *-1" L-115 HSK-T63 | 147 |32| 115 (26]/40( 70 | 63 (61|90 (25(43( 53 | 18 | M12*1.75P | 4.4

HSK-T100-SBT25*25R-150 HSK-T100 | 200 (35| 150 (29| * |110(100|98| * |25|48| 59 |23 | M12*1.75P | 8.9

HSK-T100-SBT25*25L-150 HSK-T100 | 200 (35| 150 (29| * |110|100|98| * |25|48| 59 |23 | M12*1.75P | 8.9

HSK-T100-SBT1" *-1" R-150 | HSK-T100 | 200 (35| 150 (29| * [110(100(98| * |25(48| 59 |23 [ M12*1.75P | 8.9

HSK-T100-SBT1" *-1" L-150 HSK-T100 | 200 |35| 150 (29| * |110(100(98| * |25|48| 59 |23 | M12*1.75P | 8.9




0 18 06 i i

\ Beyond the mechanical

NS AR A A= W AL a3 ) B  HSK-T-TSB INNER DIANETER TURNING AND MILLING TOOL HOLDER (FOR BORING BAR )

FIG. 1 FIG. 2
H1
D
HSK. NO H4 _H3 H2
,L,‘ ,‘j/‘,, ‘U[E
‘ 6
L2
L3 L1
L
FIG. 3 . FIG. 4 D
D m TERNTY) HSK. NO H1
HSK. NO H3 H2|
| R B | —— =
G
L4
L3 - 2 = 5
| L L3 L1
L
z{!k SEE Note ’
EARRGLE ATC BB AR T4
Please take care to prevent interference within the
ATC cantilever and the machine.

FiAg RER L |L1|{L2(L3|L4| D |D1|{D2| d | H1 [H2|H3 | H4 G FIG KGE;
HSK-T50-TSB8-65 HSK-T50 (90 (65 (39 (26| * | 50|28 *| 8 (40| 9 (20| * [ M8*1.25P | 1 | 0.7
HSK-T50-TSB10-70 HSK-T50 [ 95 |70 |44 |26| * |50 |35| * |10| 45| 9 |22 * | M8*1.25P | 1 | 0.8
HSK-T50-TSB12-75 HSK-T50 (100( 75 (49 (26| * |50 42| * |12|(50 | 9 (22| * | M8*1.25P | 1 1
HSK-T50-TSB16-95 HSK-T50 [120| 95|69 |26| * |50 |48 | * |16| 70 (14| 18 | 18 | M10*1.5P | 2 | 1.3
HSK-T50-TSB20-95 HSK-T50 (120 95|69 (26| * |50 |52| * |20 70 (14 | 18 | 18 | M10*1.5P | 3 | 1.4
HSK-T50-TSB25-110 HSK-T50 (13511084 |26| * (50 |62| * |25| 85 (14| 26 | 26 |M12*1.75P| 3 | 2.1
HSK-T50-TSB32-125 HSK-T50 |[150(125|99 (26| * (50 |62 | * |32 (100 14 | 30 | 30 (M12*1.75P| 3 | 2.1
HSK-T63-TSB8-65 HSK-T63 |97 (65|39 |26| * |63 |28| * | 8 (40| 9 (20| * | M8*1.25P | 1 | 0.9
HSK-T63-TSB10-70 HSK-T63 |102| 70 |44 (26| * |63 (35| * (10|45 | 9 |22 | * [ M8*1.25P | 1 1.1
HSK-T63-TSB12-75 HSK-T63 |107| 75|49 (26| * |63 (42| * 12|50 | 9 |22 | * | M8*1.25P | 1 1.2
HSK-T63-TSB16-100 HSK-T63 [132(100| 74 (26| * |63 |48 | * |16| 70 (14 | 18 | 18 | M10*1.5P | 2 1.7
HSK-T63-TSB20-100 HSK-T63 |132(100| 74 (26| * |63 (52| * (20| 70 |14 | 18 | 18 | M10*1.5P | 2 1.8
HSK-T63-TSB25-115 HSK-T63 |147(115/89 |26 | * (63 |62 | * |25( 85 |14 | 26 | 26 [M12*1.75P| 2 | 2.5
HSK-T63-TSB32-130 HSK-T63 |162|130|104(26| * |63 (62| * [32)|100| 14| 30 | 30 (M12*1.75P| 2 | 2.6
HSK-T63-TSB40-145 HSK-T63 |177(145|119|26| * (63 |68 | * |40 (115|116 | 36 | 36 | M16*2.0P | 3 | 2.9
HSK-T100-TSB8-75 HSK-T100 {125| 75 | 46 |29 |36(100|28 (32| 8 |40 [ 9 |20 | * | M8*1.25P | 4 | 2.4
HSK-T100-TSB10-80 HSK-T100 (130 80 | 51 (29| * |100|35| * |10 (45 | 9 |22 ( * | M8*1.25P | 1 | 2.5
HSK-T100-TSB12-85 HSK-T100 (135( 85 |56 (29| * |100|42| * |12 (50 | 9 |22 | * | M8*1.25P | 1 | 2.7
HSK-T100-TSB16-105 HSK-T100 [155|105| 76 (29| * |100|48 | * |16 | 70 (14| 18 | 18 | M10*1.5P | 2 | 3.1
HSK-T100-TSB20-105 HSK-T100 [155(105| 76 (29| * |100|52| * |20 | 70 (14 | 18 | 18 | M10*1.5P | 2 | 3.2
HSK-T100-TSB25-120 HSK-T100 (170(120| 91 (29| * |100|62 | * |25 85 (14 | 26 | 26 [M12*1.75P| 2 4
HSK-T100-TSB32-135 HSK-T100 {185|135/106|29| * |100| 72| * | 32100 14| 30 | 30 |M12*1.75P| 2 | 4.9
HSK-T100-TSB40-150 HSK-T100 |200(|150(121|29 | * |100( 82| * |40|115|16| 36 | 36 | M16*2.0P | 2 6
HSK-T100-TSB50-180 HSK-T100 (230(180|151|29| * (100|92| * |50 |145|18 | 38 | 38 | M16*2.0P | 2 | 7.8




HIETIREZR T
TSB40 CONVERSION SLEEVE

|
|
|
|
[
[
|
|
LIiT_
Ll
I
I
H
N |
1
o
i
d
D1

L K]
g L L1 D D1 d H1 H2 H3 G EE KGS
TSB40-8 118 13 40 50 8 50 7 34 M8*1.25P 1
TSB40-10 118 13 40 50 10 50 7 34 M8*1.25P 1
TSB40-12 118 13 40 50 12 60 7 34 M8*1.25P 1
TSB40-16 118 13 40 50 16 70 7 34 M8*1.25P 0.9

-
w
=

-
-
5t
—
7
EE




O 2N

4& N\ Beyond the mechanical

HSK-T-TSD HBREHESTIE [553kH) HSKT-TSD INNE-R DIANETER TURNING AND MILLING TOOL HOLDER (FOR DRILL)

FIG. 1

‘)U

- HSK. NO

D1

FIG. 2 H1
H3 H2

—
w

L2

L1

A‘E% Note

* IEFRERLE ATC 2B RNMANTFS
Please take care to prevent interference within the
ATC cantilever and the machine.

g 1Bk L|Ll1|L2|L3|(L4| D |D1l| d|Hl|[H2|H3 G FIG KGié
HSK-T50-TSD8-65 HSK-T50 [ 90 [ 65 |39 |26 | * [50 (28 | 8 |34 | 10 | 18 | M8*1.25P | 1 0.8
HSK-T50-TSD10-65 HSK-T50 [ 90 | 65 |39 |26 | * |50 | 35|10 | 39| 12 | 20 | M8*1.25P | 1 0.9
HSK-T50-TSD12-70 HSK-T50 |95 (70 |44 |26 | * (50 (42 | 12 | 39 | 12 | 20 | M8*1.25P | 1 1
HSK-T50-TSD16-75 HSK-T50 [100| 75 |49 |26 | * |50 | 48 | 16 | 49 | 14 | 18 | M10*1.5P | 1 1.1
HSK-T50-TSD20-80 HSK-T50 |105| 80 | 54 [ 26 | 31 | 50 | 52 | 20 | 51 | 14 | 18 | M10*1.5P | 2 1.2
HSK-T50-TSD25-85 HSK-T50 |110| 85 | 59 | 26 | 31 | 50 | 62 | 25 | 57 | 14 | 26 [M12*1.75P| 2 1.6
HSK-T50-TSD32-90 HSK-T50 |115| 90 | 64 [ 26 | 31 | 50 | 62 | 32 | 61 | 14 | 30 [M12*1.75P| 2 1.6
HSK-T63-TSD8-65 HSK-T63 | 97 | 65 |39 |26 | * |63 |28 | 8 |34 |10 |18 [ M8*1.25P | 1 0.84
HSK-T63-TSD10-70 HSK-T63 |102| 70 | 44 (26 | * | 63 (35|10 | 39 | 12 | 20 | M8*1.25P | 1 0.97
HSK-T63-TSD12-70 HSK-T63 |102| 70 |44 | 26 | * | 63 |42 |12 |39 |12 | 20 [ M8*1.25P | 1 1.1
HSK-T63-TSD16-75 HSK-T63 |107 (75 |49 (26 | * | 63 (48 | 16 | 49 | 14 | 18 | M10*1.5P | 1 1.4
HSK-T63-TSD20-80 HSK-T63 |112|80 |54 |26 | * |63 |52 |20 |51 |14 | 18 [ M10*1.5P | 1 1.5
HSK-T63-TSD25-85 HSK-T63 |117 (85 (59 | 26 [ * | 63 | 62 [ 25 | 57 | 14 | 26 |M12*1.75P| 1 1.9
HSK-T63-TSD32-90 HSK-T63 |122 |90 (64 |26 | * |63 | 62 |32 | 61 |14 | 30 |M12*1.75P| 1 1.9
HSK-T63-TSD40-100 HSK-T63 |132|100 | 74 | 26 | 32 | 63 | 68 | 40 | 71 | 16 | 36 | M16*2.0P | 2 2.1
HSK-T100-TSD8-70 HSK-T100 {120 | 70 |41 (29 | * |100| 28 | 8 |34 | 10 | 18 | M8*1.25P | 1 2.5
HSK-T100-TSD10-75 HSK-T100 |125| 75 | 46 | 29 | * |100| 35 |10 | 39 |12 | 20 [ M8*1.25P | 1 2.6
HSK-T100-TSD12-75 HSK-T100 |125| 75 | 46 |29 | * |100| 42 |12 |39 |12 | 20 [M8*1.25P | 1 2.7
HSK-T100-TSD16-85 HSK-T100 |135| 85 |56 (29 | * |100| 48 | 16 | 49 | 14 | 18 [ M10*1.5P | 1 2.9
HSK-T100-TSD20-85 HSK-T100 |135| 85 | 56 (29 | * |100| 52 | 20 | 51 | 14 | 18 | M10*1.5P | 1 2.9
HSK-T100-TSD25-90 HSK-T100 |{140 | 90 | 61 (29 | * |100| 62 | 25 | 57 | 14 | 26 (M12*1.75P| 1 88
HSK-T100-TSD32-95 HSK-T100 |145| 95 | 66 |29 | * |100| 72 | 32 | 61 | 14 | 30 (M12*1.75P| 1 3.9
HSK-T100-TSD40-105 HSK-T100 |155|105| 76 (29 | * |100 |82 |40 (71 | 16 | 36 | M16*2.0P | 1 4.6
HSK-T100-TSD50-115 HSK-T100 |165|115|86 |29 | * |100| 92 |50 |81 | 18 | 38 [ M16*2.0P | 1 5.3




S EEVALER D

ENMBNA

DISPLAY FOR TURNING TOOLS

- iR TIAEKE
#iE%5 3% CLAMP MECHANISM CLIENASRTN.I-CE EERTEDCER I
Insert
A | BACK CLAMP SYSTEM M | MULTI-CLAMP SYSTEM \ e ed circle |6-35 |7:949.52312.0012.7
C | CLAMP-ON SYSTEM P | PINLOCK SYSTEM AT nge 06108 09! - |12
B 5°
D | DOUBLE CLAMP SYSTEM | S | SCREW-ON SYSTEM BT gssﬂ o7 - L1l |1s
E | OFF-SET PIN SYSTEM T | TAPER LOCK SYSTEM . D
D| 15 735 1| - |16 - | -
" -
JS | SCREW-ON SYSTEM W | WEDGE-ON SYSTEM E | 20
F | 25 Q S R A I
JT | BACK CLAMP SYSTEM .
G| 30 /\ 136 - | 2
N 00 —
p 11° Q - - 09 | - 12
TIRRAR HTIBE KA R D1 R~ NIRRT
INSERT GEOMETRY CUTTING EDGE GEMOETRY HAND D1 DIMENSION TOOL LENGTH METRIC
C @ 80° w0 | 75 90°
D| <> 557 |, 5 ?77 c
K| A7 s 60 90 90
R Q E F G ar
93° 75° 95°
s| []
95° di
AP Tl —
—_— 63° 117.5° 750
d==t L T
1 In P R
wi [ e
60° | 93° 72.5°
L]
T u v
H O 120 o
ALY 87 |, % N
B|[ Y 82
AR RS
ml <> se
0 O 135°
p O 108°



DCLN 2 %FE 7]

DCLN EXTERNAL TURNING TOOL

L

O 2N

V 4

. Beyond the mechanical

o
E
] 5 3
L]
7Rk £ (KGS)
#H#g Spec. L L1 di d2 Insert Weight
HSK-T63-DCLNR-45065-12 97 65 45 31 CN..1204 1.26
HSK-T63-DCLNL-45065-12 97 65 45 31 CN..1204 1.26
|E2¢ % Accessories
& 3 3 o4 3
_— ﬂ#‘. BRigg L ES HHE [EiR L2 EtRiRF AHE
Insert \I’ %]] _IgN.m) m %]' T(N.m)
Shim Shim Screw Wrench orque Clamp Clamp Screw | Clamp Wrench orque
CN..1204 | CMS432 MLP46L-A PL2.5 5.0 MC620 MS630 PL3 5.0

DDJN B FET] DDJN EXTERNAL TURNING TOOL

L

st — il —
7k BEE (KGS)
m
#IE Spec. L L1 di d2 Insert Weight
HSK-T63-DDJNR-45075-15 107 75 45 31 DN..1504 1.38
HSK-T63-DDJNL-45075-15 107 75 45 31 DN..1504 1.38
|E2¢ER Accessories
[24
my | BBE pe | s | ER EiRigL EiRIRT ——
il T, = 2 =
Insert \I_| Shi _ISN.m) i?«‘/ T(N.m)
Shim Scrlen\:v Wrench orque Clamp Clamp Screw | Clamp Wrench orque
DN..1504 DMS442 | MLP46L-A PL2.5 5.0 MC622 MS630 PL3 5.0




PIETITR RS
DTUN EXTERNAL TURNING TOOL

L1

7R B8 (KGS)
m
g Spec. L L1 di d2 Insert Weight
HSK-T63-DTJNR-45065-16 97 65 45 31 TN..1604 1.27
‘ HSK-T63-DTJNL-45065-16 97 65 45 31 TN..1604 1.27
|2 Accessories
P24 3 3 124 3
_— BE BRigg o ES HHE [EtRigL ERIRF AHE
Insert \./ T(N-m) S M 1 T(N.m)
Shim Shim Screw Wrench orque Clamp Clamp Screw | Clamp Wrench orque
TN..1604 | TMS322 MLP34L-A PL2 3.0 MC620 MS630 PL3 5.0

DWLN 8B ZET] MWLN EXTERNAL TURNING TOOL

L1

o;/
T =
L]
| _— N/
7k B8 (KGS)
#Hg Spec. L L1 di d2 Insert Weight
HSK-T63-DWLNR-45065-08 97 65 45 31 WN..0804 1.22
HSK-T63-DWLNL-45065-08 97 65 45 31 WN..0804 1.22
|E2fE2R Accessories
4 E 3 [+ 4 R
_— By Bpigs o ES HHE [EtRigL ERIRF MHE
Insert \./ = T(N.m) ) = T(N.m)
Shim Shim Screw Wrench orque Clamp Clamp Screw | Clamp Wrench orque
WN..0804 | WMS432 MLP46L-A PL2.5 5.0 MC620 MS630 PL3 5.0




O 2N

4& N\ Beyond the mechanical

DVLN % E & 7] MVLN EXTERNAL TURNING TOOL
L1
v
\
.
I ———

#4& Spec. L L1 di d2 | rﬂ’:r ¢ E\;i\;ei(gKl'\GtS)
HSK-T63-DVLNR-45075-16 107 75 45 31 VN..1604 1.30
HSK-T63-DVLNL-45075-16 107 75 45 31 VN..1604 1.30

|E2#E2R Accessories
" B Bpigs o ES A ER [EtRiEL [ERIRF A
7] (O
et | N == | tm | R | P | = | m
Shim Shim Screw Wrench orque Clamp Clamp Screw | Clamp Wrench orque
VN..1604 | VMS322 | MLP34LA PL2 3.0 MC622 MS630 PL3 5.0

DCMN 9 2 ZE 7]

o

DCMN EXTERNAL TURNING TOOL

L1 a2
|
J ] [ &
] \
Vil E2 (KGS)
n
A Spec. L L1 Insert Weight
HSK-T63-DCMNN-00100-12 132 100 CN..1204 1.68
HSK-T63-DCMNN-00140-12 172 140 CN..1204 1.68
|E2¢ % Accessories
" BE BRiRY i ES HHE [EiR [EiRigLL EiRiRF AHE
7 >
Insert @ _If;“r-":‘)e By M ) Tgl;l.r:l
Shim Shim Screw Wrench q Clamp Clamp Screw [ Clamp Wrench q
CN..1204 CMS432 MLP46L-A PL2.5 5.0 MC620 MS620 PL3 5.0




SIETIWMRT
DDNN EXTERNAL TURNING TOOL

L

L1
—_— |
[=] I —
<
]
7k B8 (KGS)
m
#EE Spec. L L1 D Insert Weight
HSK-T63-DDNNN-00100-15 132 100 63 DN..1504 1.55
HSK-T63-DDNNN-00140-15 172 140 63 DN..1504 1.55
|2t Accessories
P24 3 3 %4 3
_— _ BE BRigY o ES AHE [EtRigL EiRIRF AHE
Insert N i _ISN-m) BN M —) T(N.m)
Shim Shim Screw Wrench orque Clamp Clamp Screw | Clamp Wrench orque
DN..1504 DMS442 MLP46L-A PL2.5 5.0 MC622 MS625 PL3 5.0

DTEN 93 % 7] DTEN EXTERNAL TURNING TOOL

L1

(el _
<
]
bl EE (KGS)
m
#EE Spec. L L1 D Insert Weight
HSK-T63-DTENN-00100-16 132 100 63 TN..1604 1.62
HSK-T63-DTENN-00140-16 172 140 63 TN..1604 1.62
|B-& Accessories
B BRgY o ES HHE ER [EiRiR 2L [ERIRF HHE
7k (@)
et | S/ | fm ) & g | | )
Shim Shim Screw Wrench q Clamp Clamp Screw [ Clamp Wrench q
TN..1604 TMS322 MLP34L-A PL2 3.0 MC620 MS630 PL3 5.0




0 18 06 i i

\ Beyond the mechanical

DWMN R ZET] DWMN EXTERNAL TURNING TOOL

L1

o)
o | @
S
7k E= (KGS)
m
#EE Spec. L L1 D Insert Weight
HSK-T63-DWMNN-00100-08 132 100 63 WN..0804 1.48
HSK-T63-DWMNN-00140-08 172 140 63 WN..0804 1.48
|- & Accessories
[%4 5 B {24 3
-~ BRH ‘ BRBY o ES HHE [EtRiELL [ERIRF HHE
)| fm | & I
Shim Shim Screw Wrench q Clamp Clamp Screw | Clamp Wrench q
WN..0804 | WMS432 MLP46L-A PL2.5 5.0 MC620 MS630 PL3 5.0

DVVN %2 & 7] DVVN EXTERNAL TURNING TOOL

L1
[
D a [ J— JE—
<
B
7R EE (KGS)
m
#EAE Spec. L L1 D Insert Weight
HSK-T63-DVVNN-00100-16 132 100 63 VN..1604 1.40
HSK-T63-DVVNN-00140-16 172 140 63 VN..1604 1.40
|2t Accessories
4 3 3
_— By ‘ BpiRs o ES AHE ERIRF AHE
et | | | B N .
Shim Shim Screw Wrench q Clamp Clamp Screw | Clamp Wrench q
VN..1604 VMS322 MLP34L-A PL2 3.0 MC622 PL3 5.0




